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1. geEten Said qFIG dTeTes TR SO A A9 SiieEe 1S 3T, e, JEl | I
() Hae g Hm A 1o Sdd S BV &S HiNe foenTdl BUM Hlewe .
(b) V[ET TESAT T A TG0 BV &N Hie! (ol WU 3fosees S
(c) WTERU-THT SR € A faamds Sae .

Fiw faumitet wivw faum,/ faur & a2
1) (a) B (2) (b ST (c) R
(3)  (a) W (c) T 4)  (a), (b) S (c)

Three zones of varying properties have been identified in the earth i.e. crust, mantle and
core.

(@) Thearea of change in density between sial and sima is known as Conrad discontinuity.
(b) The area of sudden change in seismic waves velocity is known as Moho discontinuity.
(c) The mantle - core boundary is determined by Gutenberg discontinuity.

Which of the statements given above is/are correct ?

(1) (a) only (2) (b) and (c) only

(3) (a) and (c) only (4) (a), (b) and (c)

2. YU TR WISIGUHT HIVK T ST ST JHION e[ STt 2
1 (2) o (3 W|w (4) o®
Which of the following macro nutrient is lost much with the soil erosion ?

(1) Nitrogen (2) Potassium (3) Phosphorous (4) Iron
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3. ATET . [ 9 AT . [ = A ool e @il feosedn 3 qordiqd o1 s Yya Fel.

aTSt . 1 TR F. 10
(a) FETSH FHES (i) AN WAt AR, I 2S99
(b) Toam (i) foraten, aaged T
(c) THH RS (iii) FreftE
(d) wHTEH. (iv) IR, @S e[

@ © © @
© @ @ 6@
@ @) ™ 6 G
@) @) 0 @ @)
@ O v @ @

Match the List I and II and select the correct answers by using codes given below.

List I List II
(a) Carbon dioxide (i)  Use of Nitrogen fertilizers, Livestock wastes
(b) Methane (if)  Refrigerators and Air - conditioners
(c) Nitrous oxide (ili) Deforestation
(d) CFCs (iv) Rice paddy, Intensive cattle tarming

@@ () () (@
(1) @(v) @) @@ @
(2) () (@v) @ (D)
(@) @) @ @@ )
4 @ (v (D) (@)
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4. @I faumrEn four w&d 9 vai e
faur (a) : TSGR § YRGS Srrae dfire oTe.
faam (b) : AT IR T TEAERO ISR TR,
(1)  Taum (a) nfo (b) A AR TR 3 FHGM (b) R () A T IR/ FHR TR,
(2) faumr (a) 07 (b) = FAR MR TG U (b) © (2) = AT TILIHIIT/HRYT .
(3) faum (a) I0aX T8 9 f99M (b) 9% R.
4) Taum (a) 9% R 3 faum (b) T R,
Examine the following statements and select the correct option.
Statement (a) : Rural - urban migration is a characteristic of Indian population.
Statement (b) : Migration from the rural area is basically for employment.

(1) Statement (a) and (b) both are correct, statement (b) is a correct explanation of (a).

(2) Statement (a) and (b) both are correct but statement (b) is not the correct explanation
of (a).

(3) Statement (a) is correct but statement (b) is not correct.

(4) Statement (a) is incorrect but statement (b) is correct.

5. Hg W WIS St St Stos smowN S6E W 1. oI TEUR.
1) framiie dagw (2) hifFarie daes
(@) fifsra dagsw 4) SodE! TEHS AR
Remote sensing systems which measure naturally available energy is called as
(1)  Active sensors (2) Reactive sensors
(3) Passive sensors (4) None of the above

6. TEIoUm! HIUt 'S TaeArdl’ ol NS TeaTed Waedrer TiHee hoedl Gaail het
et ? .
(1) AR T8 (2) 9N IR 99
(3) O TAER 4) ¥ TER
Who amongst the following compared the ‘Dandi March’ to Napoleon’s March to Paris
on his return from Elba ?
(1) Jawaharlal Nehru (2) Subhash Chandra Bose

(3) English Journalists (4) French Journalists
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7. @ TH A, G e, IREY S FRIEAER g @M A, foed, e, SR s
AYY AL UG FUTAT. T R0 T Bl 2
(1) FaR wHargn (2) TS AT
(3) =T deHS (4) e THE TR

He was a Mathematician, an astronomer, a scientist and a townplanner. He built big
observatories at Jaipur, Delhi, Ujjain, Benaras and Mathura. Who was this king ?

(1) Sawai Madhavsingh (2) Raja Mansingh
(3) Raja Todarmal (4) None of the above

8.  THI HIVE I R H S HIVAE WS 3Need TTal ?

(1) %" @) fames (@) w@ied @) I®
Name a country where there are no known mineral deposits ?
(1) France (2) Switzerland (3) Sweden (4) Peru

9. ‘Yt 9l Fivin IRITHET T S Bt ?
(1) féc= feauay o1 FoAEET
) T feadsay WU HoaEe!
(3) THIERE fedEay W& HTImES!
(4) RN fEaEsY 870 HIATERE!
What for was the Unionnist party established in Punjab ?
(1) To protect the interests of the Hindus
(2) To protect the interests of the Muslims

(3) To protect the interests of the landlords
(4) To protect the interests of the traders

10. TIR® YU FHATE 49 Hiafquarast 9 ST FeaYRoget a1 SaRgdd Hoan ad
(1) 169 33% 2) 3d5% (@) >10% (4) 404 45%

To control the soil erosion in hilly area bench terracing is usually practised on slopes
ranging from

(1) 16 to 33% ) 3to5% @) > 10% (4) 40 to 45%
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11. I 19 9= 11 = 90 ol w6 Eret ol sd TSI (codes) SR ST TNYH Hel.
It 1 aret 11
(a) HH fFIR ASH () S9N, Tg, 39
(b) FmER (i) M, N, 3T
(c) @R (iii) ORI, I, Y

(d) TIRES @RI TSN (iv)  HYE 9 dofeE
(@ M (o) (d

1 G @) @ )

@ @ @ @) @G«

@) @ @v) @ @)

4) G) @) @) @)

Match the List I and List II and select the correct answer using codes given below :

List I List IT
(@) Konkan coastal plain (i) Jawar, Wheat, Sugarcane
(b) Krishna Basin (i) Rice, Coconut, Mango
(c) Tapi Basin (iii) Jawar, Bajara, Milk
(d) Uppar Godavari Basin (iv) Cotton and Oilseeds

@ () (o (9
1 @ @) @ @)
2) @ O 3G @)
@) @ @) @ ()
4) @@ @) ) @

12. 1942 =1 WRA BIE! igen fafexnifars Y Joaw amefaurn wifwr Afeer Hio 2

(a) STTUT IHE HD (b) Gudl FISHI
(c) 3w agal d) fasrerdt 9k
1) @ @3 2 (a) (b)a(d)
3) (a) (b) T (o) @ (@, (), ©3 ()

Who were the revolutionary women of the underground movement against the British at
the time of Quit India Movement, 1942 ?

(a) Aruna Asaf Ali (b) Sucheta Kruplani
(c) Usha Mehata (d) Vijayalaxmi Pandit
(1) (@), (c) and (d) (2)  (a) (b) and (d)

3)  (a) (b) and (c) 4) (@), (b), (c) and (d)
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13. Tee IRftedd R f5=F vga e TR 19 &€ 9d A6 -

(1) ST ST A (2)  TEd AT T
(3) T Qi e (4) AR S
Sprinkler irrigation system does not work well under following conditions :
(1) High wind velocity (2) High plant density
(3) Low plant density (4) Area having slope
14. GOEis! IRAE IgEA = YA itenfiTe sidiear YA 700 ppb IR
T 1750 ppb Td AT IR,
(1) e SRS (2) TS S HFFEES
(3) S (4) em
Of the following green - house gases, concentration has increased from
700 ppb at the time of industrial revolution to 1750 recently.
(1) Carbondioxide (2) Nitrogen dioxide
(3) Ozone (4) Methane

15. WHS HIvd fGum SRR g ?
(a) HEwEe ' RS Efw'! ok s fhds Tuigel wHraet e Sfaw e

e A Frefor 2.

(b) “afiE do (Yfeaw) 9 A= wEas ' we 9N R Seiye Si SRy § Al
ot T,

(1) (a) SR (b) ¥ (2)  (b) T (a) T

(3) () F (b) TR S 4) (2)F (b) S R

Which of the following statements is correct ?

(@) Coalis referred to as “Buried Sunshine” as it was formed millions of years ago when
organic matter got buried under the layers of earth.

(b) Petroleum and its derivatives are called “Black Gold” as they are very valuable.
(1) (a) is correct (b) is not (2) (b)is correct (a) is not
(3) neither (a) nor (b) is correct (4) both (a) and (b) are correct
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16. THIGIH! DIVl SRATE a1 TR ?

(1) A SH SRS (2) ISR HEA

() T (4) =e TheE R
Which of the following is not greenhouse gas ?

(1) Carbon Dioxide (2) Chlorofluro carbon
(3) Hydrogen (4) none of the above

17. Yo GEH, MERyl, @, TUi-J8 9 Fie 7l a) F0AE 80 IR . eI Hhio
FE d W@ d W, (A S oE)

(a) YD GSH @) e ST e

(b) FE-won (i) ¥, 9@ 9 TR

(c) SQTERY (i) TTITENG WA (FHE) TR U=
(d) == (iv) 9 r@evgrE (FeflrEn) am

@ () (9 (@
1) G @ @ @)
) @ @) () @
@ Gv) @ @) (i)
@ () @) @ ()
Parent rock, climate, relief, flora - fauna and time are the factors of soil formation. Relate
the following factors with the activities they perform by matching the following.

(a) Parent rock (i)  Thickness of soil profile

(b) Flora and fauna (i) Colour, texture, permeability
(c) Climate (iii) Rate of humus formation

(d) Time (iv) Rate of weathering

@ (® (@ (@
1) @) @ @O @)
(2) @) (@) @) @
G ) O @ G
@) (v) @) @ @
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18. TE@YS! IVl VR 2007 S qGEY A (Earth Hour) I Fhew 3faiia T a9 fed
AGAUATE! Fdll Ho YIRS Ve HEd SUATHIS! FHD S ?

(1) Hss (2) faet (3) ud (4) @=A

In which of the following cities the idea of ‘Earth Hour” in 2007 originated with simple
appeal to people to turn off lights for an hour to raise awareness about carbon pollution ?

(1) Mumbai (2) Sydney (3) Perth (4) London

19. I vgl s YGAIHEd HSH 3199l 94 919 Ug aTHEd SR WEY 390 A ?

(1) ¥HIS Ugl (2) O e ug

(3) oo (4) SOt T

In which strip cropping strips of some legume or grass are left over permanently in the
field ?

(1) Contour strip (2) Wind strip

(3) Both the above (4) None of the above

20. HIesY=AT QUGS IV SThTe Bl Ygoeh qUdTE] STEYUN AIGfauard SRufyd 31e ?
(1) FETSHE FAFES () THfew FHES

(3) UeH{w RS (4) 0o wd

Which serious pollutant from coal mines waste causes hardness of water ?
(1) Carbon dioxide (2)  Nitric oxide

(3) Sulphuric acid (4) All the above
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21. Sied e

(@) HEHYR Tt d) Hag i aEE

(b) WA 9Fd (i) s, SRR, FRE

(c) WA’ 95d (iii) YSE, SR, 79

(d) TR Tgd (iv) Hego W=

(@) (b) (o) (d)
1 G @) @ @
(2) (@) @Gv) @) (i)
G @& (@) @) @)
4 @ @) @) ()
Match the following :
(@) Permanent settlement (i) Bombay and Madras
(b) Mahalwari System (ii) Bengal, Bihar, Benaras
(c) Malguzari System (iif) Punjab, Agra, Avadh
(d) Ryotwari System (iv) Central Provinces
@ 6 © @
1) @) @) @ @
(2) (@) (@) @ @)

3 O @) @ (v)
4) @@ @) @) @

22. AT STEH AT T [t Tk 7, fEe T 96 o TOR Wel $& A1 d o
HHI.
(1) THR™ (2) ®AR (3) ERd (4) THTH
Ambedkar hailed as one of his three Gurus, the two others being Gautama
Buddha and Mahatma Phule.
(1) Tukaram (2) Kabir (3) Namdeo (4) Eknath
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23. 9 FEA T AlFEES o ARGS TN Sed IV e I A
(a) SIERTTE U fayae™ (SHe) T Wurﬁﬁaaqmﬁﬁﬁwaaﬁﬂ
(b) HIT, fHe 0T FAEIIME YT TEdie. dgad WHEL Aeo.
3T | 1 I STTR.
(1) F9 (a) (2) FIB (b) (3)  (a) W (b) (4) T@F(b)
As the carbon dioxide content increases in the atmosphere the temperature would increase
and as a result :
(a) the climatic belts will shift from equator towards pole, the vegetation would also
shift away from the equator.
(b) insects and pests will increase in the warmer climate conditions. Thus pathogenic
diseases will multiply.
State what is possible
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) or (b)
24. 3 T GiEe @1 {0 s Ta .
1) fre (2) e 3) fe=m (4) AR
The false colour images display the red colour as :
(1) Blue (2) Black (3) Green (4) Orange
25. GRS HIHE TIT FIOAME HI0] TETHR SHael ?

(a) TN FIFEH T ST YA B I WIHISTR T SR v idear srem.

(b) SO R AW Tihe B,

() WA GN@ HIHTH 1887 HE) HIH ATYETMN TR Hel 7o,

(d) QA fads erevarg @il TER S Ht DG HHH FOH AT TG G0
.

(1) = T (2) HwEEg A

(3)  TirdTE TUINT AR (4) 7T FO TGS

Who took efforts for the foundation of the social conference ?

(@) The group wanted social problems to be discussed in the session of the Congress.

(b) The leaders of the Congress were opposed to it.

(c) The Social Conference was therefore organised in 1887 after the session of the
Congress.

(d) In order to prevent conflicts he declared that the sessions of the Conference would
not take place in the same hall of the Congress.

(1) Justice Ranade (2) Keshavchandra Sen

(3) Gopal Ganesh Agarkar (4) Gopal Krishna Gokhale
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26. Sl T YHMHA B A A TS S &l ' YRAE TSHIAHE o Fae The

7&Y 37ed | e fucren sread 17 a6 Taet Hiet gl o Sieeu fohd 99 1w e ?

OEREEL (2) U (3) duey (4) ¥ o

When she was the Prime Minister of India it was said of her that “She was the only man

in Indian Politics!” Her father had a tenure of 17 long yrs. For almost how long did she

reign ?

(1) Nine years (2) Eleven years (3) Thirteen years (4) Sixteen years
27. IV FIEE TS ANTIAI FHIEd] Ifquar e wid 2

(1) 9FEH (2) 9o (3) Uig 4) Tefr

The wood of which tree is used for making matchbox sticks ?

(1) Teak (2) Sal (3) Popular (4) Eucalyptus
28. SiIedl oAl

v L1

(a) TSR e (i) 50°%. F&d

(b) IR ufrEE! AR (i) 5°. q5°T. HAHIA

(c) ¥ HE (iti) 40° . &

(d) sud v (iv) 60° 3. &

@ (b (o) (d)

1) @ () (v) (i)
2 @) @ (@Gv) ()
(3 (v) (@) () ()
@ O @) @) @)
Match the pairs :
Winds Location
(@) Roaring Forties (@  50° S latitude
(b) Furious fifties (i) 5° N to 5°S latitude
(c)  Shrieking sixties (iii) 40° S latitude
(d) Doldrums (iv) 60°S latitude
(a) (b) () (d)
1) @ @) (v) (i)
(2) @) @ (v) ()
G) Gv) (i) @) ()
(4 @ G) () ()
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29. THN URHS @@l -

i T AR WIS W F F YAMAIE IS HEB TITIT HO.

@ @a: fayat foamw et

I $vates faemerrR ¢ fayarfaare’’ = widh T F6.

it EgearT=n sfer, AYTS 1% R 3 9479 st d NSt feaR 1 Siee,
ST TS (2) foeuemedt 4t

719165 TUET STTREHT (4) TETIHRT FIOAE

Identify the social reformer!

()

(b)
(©)
(d)

(1)
®)

He worked for the emancipation of women and established Punarvivaha Uttejak
Mandal.

He himself married a widow.
He translated Ishwar Chandra Vidyasagar's “Vidhwavivah” into Marathi.

He is also the auditor of ‘Hindustancha Itihas’ ‘Abhangas of Tukaram” and various
dictionaries in English and Marathi.

Baba Padmanji (2) Vishnushastri Pandit
Gopal Ganesh Agarkar (4) None of the above

30. WO HIUA fa9m gHEE TR ?

(a)
(b)
(c)
(d)
(1)

=T e e Ei gE Fald 213 Wi g @ WRAN 10% & S
MRERAT F0M 4= TR Faq AlS 3.

AEAR @R YoRME ey §afa #is @ik o1,

a1 7 FAE T GR Y GRE T,

(b) 2 (© 3 (@ (4) IR TR

Which statement amongst the following is incorrect ?

(2)

(b)
(©)
(d)
(1)

The Godavari in the southern peninsula has the second largest river basin covering
10% of the area of India.

Next to Godavari is the Krishna basin in the region.
Mahanadi has the third largest basin in the peninsula.

The basin of the Narmada and of the Kaveri are of about the same size.

(b) 2) (o 3) () (4) None
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31. Tiear=n i @ sy Suar F1 THen STl 2

(1) HHWMR Y 2) If T=o1 aefan

(3) T Y& (4) =
What is the alleged medicinal property of Rhino horn ?
(1) Cancer relief (2) Aphrodisiac

(3) Blood purifier (4) Laxative

SO2

32. 9R@ Ui Hvi YEE Het ?
(1)  ften g =4 (2) wHFW A

(3) SIS @ (4) wWMEgT

Who is the founder of Warli painting ?

(1) Jiva Soma Mhase (2) Venkatesh Annam

(3) Chamulal Rathva (4) Govind Gare

33. WeHadl dide AT HINYT g ST § HIvEn SRt dadid g ?
(1) A g o @) WvER B 9 v
(3) IR B gu g 4) TloUH! HIURE TR
What is the Central Arid Zone Research Institute (CAZRI) concerned with ?

(1) Soil erosion problems (2) Water erosion problems

(3) Wind erosion problems (4) None of the above
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34. WOGUH! R HEEH TREEST FA Hew@qul YfasT IR qredrd ?

(a) SEEREE!

(b) ST

(c) it fafma =

(d) vRftafea geam

(1) () 3o (b) 2) (@), (o) 30 ()

(3) (a), (b) =MW (d) (4) o wd

Which of the following components play an important role in the function of Ecosystem ?
(a) Food chain

(b) Food web

(c) Trophic level

(d) Ecological Niches

(1) (a) and (b) (2) (@) (b) and (0

(3) (a), (b) and (d) (4) All the above

35. TEAYd @[ Sl o T 7' wupE e S dn S ?

(1) 26 ST, 1949 (2) 26 SHER, 1930

(3) 26 SHaRY, 1931 (4) 24 SHAER, 1930

Which day was celebrated as “Independence Day” during the pre - independence
period ?

(1) 26 January, 1949 (2) 26 January, 1930

(3) 26 January, 1931 (4) 24 January, 1930

36. @AM (El Nino) @ @1-HT (La Nina) ®
(1) 3T gd weIia HEMTR ST qeEE Sefaard.
(2) TR gE g9 HEETR ST d9HH diefr.
() eEE Afrmren ArEamHE RSN aTHH e fadr.
(4) <rE AreEfaes fewi Sfas a9 TS STEdE U S5% HSaH ST
El Nino and La Nina __

(1) Both decrease water temperatures in the Eastern Pacific ocean.

(2) Both increase water temperatures in the Eastern Pacific ocean.

(3) Both increase water temperatures in the Gulf of Mexico.

(4) Produce changes in opposite direction in global temperature and precipitation

patterns.
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37. 9Rd BT Ao wiw Yesl wrefavarst Teequl yfist Sivi IR e ?
1) wafs g (2) WA
() FHS e @) feu et
Who played a very important role of running the Congress Radio during the Quit India
Movement ?
(1) Sarojini Naidu (2) Usha Mehata
(3) Kamala Nehru (4) Indira Gandhi
38, gt AT YUATETEd H ST AR 2
(a) R gt 2/3 WOf ST1E W § ION WU SugE L
(b) T U (WS THOD) Hee 2.7% R,
(c) e 1% TSt IO HIVHTE SUGH .
(d) AR 70% = uron fEwTen 9 s e serfdent, TNee 9 YdaRid 3R, el
feTome & qUuT TR,
LRI
(1) (b) 3 (c) . (2) ()3 (d)
(3) (b) e (d) (4) = T THE AR
Which of the statements given below are incorrect about water on the earth ?
(@) The oceans cover two thirds of the earth’s surface however the ocean water is unfit
for human consumption.
(b) Fresh water accounts for only about 2.7%.
(c) Only 1% of fresh water is available and fit for human use.
(d) About70% of the fresh water occurs as ice sheets and glaciers in Antartica, Greenland
and mountain ranges. Due to their location they are in accessible.
Options :
(1) (b)and (9 () (c)and (d)
(3) (b) and (d) (4) None of the above
39. WERTEN® Ufed sifupd soaeie F9U (E - waste) Mesl AR Hg AY T A
(1) T 2) et @) «& (4) WidHH
The first authorised E - waste collection centre in Maharashtra has started at
(1) Goregaon (2) Borivli (3) Andheri (4) Santacruz
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40.

18 A
TrSeuH! SVl e guI-guren fSieel A SewEe Wil ?

(1) e (2) R (3) 4 (4) @R
Which of the following districts is known as Milk - Ghee district ?
(1) Jalgaon (2) Kolhapur (3) Dhule (4) Sangli

41, IvaRER fTEErR 9 vaid W SeoE H1 (G Yl wiven S € 2
(1) T g T HO. (2) fagen gafdame
(3) ST 9T T= HIW, @) foamE ==
Ishwarchandra Vidyasagar did remarkable work in which of the following
fields ?
(1) End the practice of sati (2) Widow remarriage
(3) To end dowry system (4) Marriage age
42. B THIA e HgareAl fargromeshitar weq 0.
(1) SRR (2) et
(3) wfEfiEnt 9 FEu (4) STy, wfceiint 9 gu
Lady Dufrin Fund provided help to women for education for becoming
(1) Doctors (2) Nurses
(3) Nurses and midwives (4) Doctor, Nurses and midwives
43, Siryy-fio FREFIRE AR HIVH FSHUT AFAH Hifae A7 Soard SROTYT 3T 7

1) o= @) f=e ¢) fm® (4) whifHEm

Give the name of a heavy metal which occurs in pharmaceutical industries and causes
Jaundice in human beings :

(1) Arsenic (2) Nickel (3) Lead (4) Chromium

el RIS ST /SPACE FOR ROUGH WORK
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44, WFRAEE fraea &9 AR 2011 T9R A0 §F G0 § gadT woay e & R ?
(a) 3TERT WURE Sfree 500 Het
(b) W WURE SRS 500 HReX
(c) SR WU WEs 12 Afaw Ho
) T AIRE SRS 12 Aifaw i
1) GIEM@G @ @ W EQ () @IME @ b))
Which of the following regions according to “Coastal Regulation Zone Notification 2011”
are to be conserved and protected ?
(2) 500 m on the landward side from low tide line
(b) 500 m on the landward side from high tide line ’
(c) 12 nautical miles on the seaward side from low tide line
(d)
(1) (b) and (d) (2) (a) and (c) (3) (a) and (d) 4) (b)and (9

12 nautical miles on the seaward side from high tide line

45. faeom sfcw area Fem TRAE S o SvaEEs) SN WeRfaQH a9 yaE 8 9 d
Mes@r ?

(a) W TAN, faeaq - AR dafer fagor T,

(b) fEs TR - IR W Remor T,

(c) TR =I0H TRIGAT - WRATA IR=AT &0 .

(d) oS Tt - AT fgor g,

(1) W (a) ST AR 2) () TR R
(3) (a) F (o) TR 3R 4)  (b) (d) SR R

Choose the correct alternative of the following : there were views and counter views
during the period of William Bentinck regarding educating Indians :

(a) Sir H.A. Wilson - To give oriental education

(b) David Hare - To give local education

(c) Charles Trevelyan - To give western education

(d) Lord Elphinston - To give education in mother language

(1) Only (a) is correct (2) (d) is correct

(3) (@) and (c) is correct (4) (b)and (d) is correct

HoT HIHEIS WIRT /SPACE FOR ROUGH WORK
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46. R A faum fa=mm =i :

(a) AR IFHE A=Al

(b) Fifwe (AR IFE M.

STTET QT & ¢
(1) (a) SR wG (b) (2)  (b) TR R (a) L.
(3)  (a) @ (b) AT TAM (4) 7 (a) S T (b)

Consider the following two statements :
(a) Male Peacock dances well.
(b) Female Koel sings well.

Now state whether :

(1) (a) is correct but (b) is not (2) (b) is correct but (a) is not
(3) Dboth (a) and (b) are correct (4) neither (a) nor (b) is correct
47. BT & FeEURun T fi wisvii=an sEfeassgR Sax swen sEfesi
TR GG FATT M1 o AT ST g,
(1) f=w" (2) HIS (@) fosgasn (4) <9 ¥

photographs taken with a single - lens frame camera is most commonly used
in a aerial photography for remote sensing and mapping purposes.

(1) oblique (2) Horizontal (3) Wide angle (4) Vertical

48. wieT fedea St EIATIw! I T STEUH (heavy metals)FHT0T 3114 TG ?
(1) ST @S (2)  Sdre e
(3) U 4) Tad

In which of the following plants accumulation of heavy metals is more when grown on
sewage irrigated soils ?

(1) Forest trees (2) Ornamental plants
(3) Leafy vegetables (4) Grass

HEAT WIS AT /SPACE FOR ROUGH WORK
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49, fowe-Um e Sfaew a9 Fea™ Bon 9oy -

(1) FftmeheH

Q) SaEEg (I THRHSYH), e forgdeor (SEmiHAERTE )
(3) HErewOn

4) =lowd

The excess use of pesticides cause :

(1) Eutrophication

(2) Bio - accumulation and biomagnification

(3) Blindness

(4) All the above

50. SV FUE EEY I e
(1) HIFREE FIATE aRqH AN RS
(2) Safafggaa e
(3) oS EIH

(4) O FEA FTRGA

The Bas¢1 Convention refers to :

(1) Transportation and dumping of hazardous waste.
(2) Threats to Biodiversity.

(3) Desertification.

(4) Solid waste management.

oA SIHTETST ST /SPACE FOR ROUGH WORK
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51.

22 A

R aR faumite! $& gt oR ?

(1) DFRIET FIH a6 § G FH IR ARV TEq: HFRONYT 3.
(2) IR P SCUCHATS ARTON Ted v @t AR aTed.

(3) WRA WA AT 9 STARGFAR A R WIS T SR TS WareAl SeTEHa.

(4) SN IR T AR ST A GHERIE FiAfhal B THIEHE® ST

Which of the following four statements is incorrect ?

(1) The rapid increase in population is the main reason for the growing demand of
agricultural products.

(2)  As the demand of agricultural products increases so does the demand for nutrients/
fertilizers.

(3) India is the third largest producer of nitrogenous fertilizers in the world only behind
China and USA.

(4) The overwhelming response of agricultural productivity to the application of fertilizers
is heartening.

52.

WY WM hed T YATA T AT YEIGURT HIvAl ST TG0 A9 11 | 1998 & YRaA
FOTIT SUEEVIHIE YRART JgHaRE s day 393 8 7

(1) W, e, A (2) R, e, faea
(3) o, W, ST (4) WrE, W, A

Which countries continued their normal economic ties with India unlike the U.S. even
after Pokhran nuclear test on 11 May 1998 ?

(1) France, Canada, Germany (2) Germany, Denmark, Sweden
(3) France, Russia, Germany (4) Russia, France, Norway
53. YJOENT FEl TS, WURUG: @ 3Nt @it qerd Hob witfewild grama fehan
YGYT YHNMM BIawd.
(1) ST IRT 2) SR gRoT
(3) Y&HAET YR (4) SIEUR IO

Some Earth surface materials, primarily rocks and minerals, fluoresce or emit visible light
when illuminated by

(1) Infra - red Radiation (2) Thermal Radiation
(3) Microwave Radiation (4) U.V. Radiation

HoAT HIETETES! W /SPACE FOR ROUGH WORK




A 23 SO2

54. ‘TR IS A WS TH HION I 2
(1) Hd gHRA (2 T (3) €EHEEe (4) IR
Who composed the Bharud ‘Baya Dar Ughad’ ?
(1) Sant Tukaram (2) Eknath (3) Chokhamela (4) Dnyaneshwar

55. ‘3% 9T § FIOUR 9 W 318G @ FOR'' ¥ §1S S FUIE B 2

(1)  TIIe TURT SR () &l I
@) . feen 4) w. e
“I shall say, what is just and do what is possible” whose motto was this ?
(1) Gopal Ganesh Agarkar (2) Dr. Ambedkar
(3) Lokmanya Tilak (4) Mahatma Gandhi
56. HE HAM T IR HRAT 99 T fasr e wioarn giwar gof
B
(1) R (2) TS (3) wmm (4) e T T

With the accession of , the merger of princely states with the Indian Union
was completed.

(1) Kashmir (2) Junagad (3) Satara (4) None of the above

57. WOl® UIHiIsh! HIvd Th G HAHR STE ?
(a) TIY VRS ATFR (size)
(b) DHMAT STYRIvAT H} &
(c) YevIdie anfee fasmmn &)
(d) wifFTe wIEHfTw (Physical) QT
M (@), ®) (© T (d) (2 (a) 0O (b)
3) (@), (b) AT (o) 4) () (b) 3 (d)
Which of the following factors determine the size of a village ?
(@) The absolute size of population
(b)  Ability of the land to support the population

(c) Level of economic development in the region
(d) Physical limitations of the land

(1) (@), (), () and (d) (2) (a) and (b)
3) (@), (b) and (¢) 4) (a) (b)and (d)

HoAT HWEE AR /SPACE FOR ROUGH WORK

P.T.O.



SO2 24 A

58. SR HIGH SHEAN WRATH] HHiS THHRT & I&T T3 fa6qq Srrdl SIYEEe Sied 8 gaid
FIIV G /M FET FAT 90% T SH GHSS ST,

T Hlcsamed H1e = YA 50% d 80% THq. forse Wed s o Yoo 40% 3.
S | %1 (@I SV fa9m atet 1) ?

(a) VRGO P HiSTAT ST FHAG IS eI,

(b) UG IHE FHAT HISTITE WS IATH R,

(c) WRAKI® S RIS HTEA JA 50 T 80% 3.

(d) RGNS HicHT Tra1 Sgaid forse e 1.

(1) 92 (c) 2 @90

(3) @9(d) (4) 9% (d)

India ranks third in the world after the USA and China in coal production.

Arthracite coal is the hardest and ranks highest among the coals with carbon content of
90 percent.

Bituminous coal has carbon content between 50 percent to 80 percent.

Lignite has about 40 percent carbon.

State whether

(a) India does not have extensive deposits of the highest grade coal.
(b) India is a major producer of the highest grade coal.

(c) Most of the coal India produces is with carbon content 50 to 80%.
(d) Large chunk of India coal deposits are in the form of lignite.
Which one of the above four statements is correct ?

(1) Only (9 (2) (2) and (0

(3) (a) and (d) | (4) Only (d)

59. WIOGUH! HIvd Tk gg F U0 FHROT HEvIERET ST TR ?

(1) wer (2) wEd (3) @RI (4) e
Which of the following crops helps in soil and moisture conservation ?
(1) Maize (2) Sorghum (3) Pearlmillet (4) Cow pea

oAl HIHTEE! WET /SPACE FOR ROUGH WORK
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60. T ¥ BT HERTETAT HIVAT YRS Brehed IS 7

(a) T (b) EHW (c) fa=d (d) wUSETET
Tty :

1) (a) % @ @ @ ) (4) (o e (d)
‘Goph, folk dance belongs to which part of Maharashtra ?

(d) Kokan (b) Khandesh (¢) Vidharbh (d) Marathwada
Options

(1) (a) only (2) (a) and (b) (3 (b)and (o) 4 () and (d)

61. TUerieT STEATET AT TSTT FHISTTHd HLaTH I QUATHIS] o a9ATE (a1 grafe ) yrqeam
I AE FH T JE TZUTAT.

(1) SeEEE (2) oT9YE
(3) HREAR W @) whe wd

A water harvesting system specifically designed to provide life saving irrigation to crops
during the period of moisture stress is termed as

(1) Rainfed farming (2) Runoff farming
(3) Dryland farming (4) All the above
62. Tafuet gva TR SrogmEmet S fgfada orn faar= gan % sTresTe fafirdieet e
HieTd T
(1) 60 (2 90 (3) 45 (4) 30
Three dimensional views of the terrain can be created by placing two successive
photographs under a stereoscope, with approximately % overlap.
(1) 60 (2 90 (3) 45 4) 30

HoAT HWEGT I /SPACE FOR ROUGH WORK
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63. ITIEHR AIaSI1 I Seol FgoThd A 9 HUd i< ThAd 0. § 9 3L FHI0R ?
(1) foormd Joaciol FUMERE die faasfan, 79 75 Foed I+ U, 3 @y

fesfaot.
(2) WS YRR WHIYHTERRE A fHefo), Isme 98 Hoed I URY, 9 Wy e,
(3) STIHEAH AR AreT fisfao, STaaret arta Ao G GURYl 3 T fefa.

(4) fooTwd TedEeR dem fafd, sme wHfte g% guRe 8 @Ry e,
The Khilafat Committee and Congress agreed upon triple purpose of Non - Cooperation.
Which were the three purposes ?

(1) Satisfactory solution of the khilafat question, redressal of the Punjab wrongs and
attainment of Swaraj.

(2) Satisfactory solution of Bengal question, redressal of the Punjab wrongs and
attainment of Swaraj.

(3) Satisfactory solution of the minority question, redressal of the Jalianwala Baug
wrongs and attainment of Swaraj.

(4) Satisfactory solution of khilafat movement, redressal of the Bengal question and
attainment of Swara;j.

64. Trsi=a AFg AEIEET Wa (SW) A, g9 : 9o ;¥ gered } YT STEEd.
(1) 20:30:50 (2) 30:30:40 (3) 25:30:45 (4) 25:25:50

For optimum plant growth loam soil should have, air : water : solids in ___
proportion.

(1) 20:30: 50 2) 30:30:40 (@) 25:30:45 (4) 25:25:50

65. YA TEI-SIE THeuqLd WM fopdt T SISvaTETs! Wifed o 374 ?

(1) 10 (2) 25 (3) 37 4y 47
Under Indian river - linking project, how many rivers are proposed to be linked ?
(1) 10 (2) 25 (3) 37 (4) 47

66. THOIEAT AGATETS TRATE TFUA Reiarg fafofestons) wriarR! Jer! ol ?
(1) VRA TRS WIRFAT 2) ORAC IS Aql
(3) VWA TS AW (4) ORA TS AIHHT
Under whose guidance did Indian Army successfully execute annexation of Hyderabad ?

(1) Lft. General Rajendra Singh (2) Lft. General Nanda
(3) Lft. General Thorat (4) Lft. General Thapa Singh

HEAT HTHEE! WM /SPACE FOR ROUGH WORK
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67. UvaTea faTHTIAIE RIS WIOeTh! SVl HILTHIET STANT Hel I ?

(a) WHUE T (b) w

(c) o (d) kel W

(1) (a) ST (b) T (2)  (b) 3 () e

(3) (@) A (d) TR (4 =towd

Which of the following media were used for paintings in Maharashtra during the Peshwa

period ?

(a) Cloth board (b) Glass

(c) Bhurgpatra (Palm leaves) (d) Wooden board

(1) (a) and (b) only (2) (b)and (c) only

(3) (a) and (d) only (4) All the above

68. TBHA JTOTH TVATG YaT@id! dI6 A IUadd! SVl Srei=n Higdr FHIG a9 Hudmd
I ?
(1) R qoHe 2 FE (3) wETwE (4) Hsfram

Which compound is being used extensively in treatment of reservoir water to control
growth of algae ?

(1) Copper sulphate(2) Lead (3) Cobalt (4) Cadmium

69. HH! IEETST RIS AN ST YT SR o =90 (3Tehet Jo) Tard ?
(1) wH yE StEEer fraw
(2) ik STERINIET ST AT
(3) STHI G AR
(4) oI Y@ UG SITE ! 916
Irrigated soils in low rainfall region develop soil salinity and alkalinity due to
(1) Inadequate leaching of nutrients
(2) Excess application of crop residues

(3) Imbalance in use of fertilizers

(4) Accumulation of salts in surface layer due to evaporation of water.

HEHT HIATEIS! WRT /SPACE FOR ROUGH WORK
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70. WIGIGUH! HIT X Tad e eI TR 2

(1) ~garh-aiTed €Lt (2) =THE-HIR

(3) wEmE-Afenat (4) HUN-TEIHER

Which of the following are the noisiest cities in the world ?
(1) Newyork - Washington D.C. (2) Kolkata - Mumbai
(3) Shanghai - Tokyo (4) Karachi - Islamabad

71. 2001 - 2011 A1 HTEAHT TERILTIS DFEE dEHE 92 A0 {9 :
(a) M (b) e (c) Yot (d) fayg
(1) (a), (b) 30 (@) (2) (o) MM (d) @) () @) @) () (M)

During 2001 - 2011 in Maharashtra negative growth of population is seen in the
districts :

(a) Thane (b) Mumbai (c) Ratnagiri (d) Sindhudurg
() @ Mandd () ©@andd) (@) O, and(d @) (@) () and (d)

72. ool TEErRT SEq S SUGeHdl SUardIS] ST 91 91 S 9.

(1) 45-6 (2 6-7 (3) 75-85 (4) 70-85
Maximum phosphate availability to plants is obtained when the soil pH is in the range
of

(1) 45-6 2 6-7 (3) 75-85 4) 7.0-85

73. TaE IR 9 ITARIG g1 TSRS &Ad g ] Wijd HSHIT o 10, AWl Faid S

o g 91 fawm v
(1) TITE, 9RE, "o (2) R, IX, TS
(3) T, Wgm, wigy (4) freis, sigr, S

Noise level of vehicles was recorded in ten heavy traffic locations in Mumbai City and
suburbans. The worst affected areas were :

(1) Goregaon, Sion, Malad (2) Fort, Dadar, Mulund
(3) Kurla, Matunga, Bhandup (4) Girgaon, Bandra, Borivli

FHoAT HHEST AT /SPACE FOR ROUGH WORK
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74. I FRETAT GUvamed oy S (Anthrax bacilli) ¥ I7Tsiq N@esdrd ?

(1) =T SR 2) U FREM

(3) &Q HEEA (4) FEE FHITEE FREM
Which industrial waste contains the pathogenic bacteria, Anthrax bacilli ?
(1) Alcohol distillary (2) Textile industry

(3) Fertilizer factory (4) Tannery

75. e faymE R F.
(a) Tenmoar=n @ 1 9% 3 fewAwi=n faqeran ™ TEdnE.
(b) v TeTeare e Fia AT swam & T Rt sheaam.
(c) eHTea feHToam WY e e,
(d) TN Ea & Q! Sge.
(1) =RE faum SR WY (a) T (o) F (b) T (d) FRAT STTHA FROYF TR
2) (b) TR F (a) T AT HRT R,
() (d) SR F (c) A AT FHRV AR,
4) (b) ¥ (d) A T T (a) T (c) T TR ITTHA HRU .

Consider the following statements :

(@) The Himalayan rivers are formed by melting snow and glaciers.
(b) Therefore the Himalayan rivers flow continuously causing floods.
() During monsoons Himalayas receive very heavy rainfall.

(d) The rivers swell causing frequent floods.

Now state whether

(1) All the four statements are correct though (a) and (c) are not necessarily the causative
factors of (b) and (d) respectively.

(2) (b) is correct and (a) is the correct causative factor there of
(3) (d) is correct and (c) is the correct causative factor there of

(4) (b) and (d) both are correct and (a) and (c) are the correct causative factors there of
respectively.

HoeAT HIMTEIS! ST /SPACE FOR ROUGH WORK
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76. (X)W-WWWWWMWWW@WW
e =T TRHTTEE Sedsiia UM 3oft & <tef Tl gl =an TEur R} Usq.
(Y) ST - qerefe q9HE SR SAATYE 380 T A Scdfsid GIomT S99 A FATe®
(1) (X) = (Y) AR TRA
2)  (X) T R, (Y) 7 (X) o SR T
(3)  (X)TF R (Y) T 7
(@) (X)d (Y) I IF TRA
(X) Statement - Solar energy radiated from the surface of the sun is transmitted in the

form of short wave radiation but the energy radiated by the earth’s
surface is transmitted in the form of long wave radiation.

(Y) Reason - If the temperature of the substance is very high then the energy radiated
by this substance is very high which is transmitted in the form of short
wave radiation.

(1) (X) and (Y) are correct

(2) (X) is correct, (Y) is not the correct explanation for (X)
(3)  (X) is not correct (Y) is correct

(4) (X) and (Y) both are not correct

77. @ 2001 = TFVHTER TERIERIS TR J 310 I1 1 9T AISug Teuml Jrhse

wa Tt o118 ?
(1) 5% Qe S (2)  33% U &
(3) 10% U&= (4) 15% U&n S

What percentage of population of Nagpur and Thane, the two cities of Maharashtra as
per 2001 census had people living in slums ?

(1) more than 5% (2) more than 33%
(3) more than 10% (4) more than 15%
78. T&Y Ty, g I ' Efedd qEeHN ' A YA qEeHHE a0 318 5O 3.
(1) 8 FOIET JET 5281 AHSS  (2) 9 HOIRAId P
(3) < HUAH HAGd (4) U YT FHHGAd
W.W. Hunter’s book, ‘The Indian Mussalmans’ described the Muslims as “ "
(1) Strong willed to revolt (2) Brave enough to revolt
(3) Too weak to rebel (4) Too weak to organize an association

o] HIHMETE! W /SPACE FOR ROUGH WORK
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79. " TST ST Ul STTR.  HHTH SRR TR, Siagrdrsl ST 31, steAtashet
ST ST F YLORT=R AST STt SR,
A 28 IV SR s 318 7
(1) STEd 2) ¥4
(3) ¥V @) T

“ " is the cradle of the human race, the birthplace of human speech, the mother
of history, the grandmother of legend and the great grandmother of tradition.”

Which country was Mark Twain speaking of ?

(1) United States of America (2) India

(3) England (4) Greece

80. TgaRl 1922 =1 IR TeATR eI THEHR Teead qehd Fol. A HAY avie ' TFe
Forel’ a8 Hl FHS ?
(1) v A e ) o TN TE
() QuER 99 (4) UL TARSTS 8T
Mahatma Gandhi suspended the non co - operation movement in February 1922 after the
incident of Chouri - choura. Who described it as a National Calamity ?
(1) Pandit Motilal Nehru (2) Lala Lajpat Rai

(3) Subhash Chandra Bose (4) Pandit Jawaharlal Nehru

81. VAR Sofdaqr Y@ 3 739 feriaums faere Wn, 39 feaw fdem yea g vdg %o
S TS R -
(1) fouas fHaT Yorel ArRea e Yere T3 el &% ed TR
) foum faemren Tl Yt a1g wehd T, '
(@) foo® den s vy v
(4) TS FEE R

Algae, a welcome ingredient with surface irrigation due to nitrogen fixation, is not tolerated
in drip irrigation system because :

(1) algae cannot fix nitrogen when drip irrigation is adopted
(2) algae cannot grow in drip pipe lines
(3) clogging of emitters may occur

(4) none of the above
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82. TS STATAT FEIA HARIT HIUT T FHST TS ?
(1) T wem 2) fmr
(3) USHH 4) YR
Which was the first state to implement the ‘Antyodaya Concept’ of Mahatma Gandhi ?
(1) Himachal Pradesh (2) Bihar
(3) Rajasthan (4) Madhya pradesh

83. ‘fafew Seien o= TRV H TU SLTTHIV Tl 3T S0 MG ?

(1) =T (2) Torsopemest favgumR

(3) T IR (4) R SGifasT §o

Who said ‘Imitate the British in their good deeds but dont follow them blindly” ?
(1) Justice Ranade (2) Vishnushastri Chiplunkar

(3) G.G. Agarkar (4) Mahatma Jyotiba Fuley

84. WETHET S ST AT TR T F& ATAWEG AT S (TR HIUR 1S 3R 2
(a) ToTmo® wEREUeat seifeds Suved AR GY Y9 BT A9 SAeH 9 @i ST

FO,

(b) SR FEREHATE oA il FRAEHA A Slefes T3 B AMIeG Fl o1
SRITS ] HeH 3R ho.

(1) &S (b) (2) SAS (a)

(3) (a) 3 (b) ¥ THA T @ @30T

Which of the two statements about Savarkar Bandhus who had founded Abhinav Bharat
is not correct ?

(a) Vinayak Savarkar was deeply impressed by Italian patriot Mazzini, whose biography
he translated.

(b) Babarao Savarkar too was sent to Andamans for his seditious activities, the
punishment avenged by Kanhere by shooting down Jackson.

(1) Only (b) (2)  Only (a)
(3) Neither (a) nor (b) (4) Both (a) and (b)

85. WIBHIGUH! HIVIAT YRATAT IS e €A1 RaRT @7 qaia e . ?
1) ™ (2) WfFwEH (3) e (4) e
Which of the following neighbouring countries of India has the longest boundary in

common with India ?
(1) Bhutan (2) Pakistan (3) Bangladesh (4) Nepal

THTEAT THTHATATS! SR /SPACE FOR ROUGH WORK
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86. Yee=AT S =T THATISRA WIStoush! Hivi faem T o1e ?
(1) gt Sfadmn M FaTeuTRT st STk,
(2) QAT SHAETET M HEHNRA 0@ .
(3) g AT M1 PR SO SR
(4) QAT ST M FHSV WSHURA T IR,
Which of the following statements is correct about the structure of core of interior of the
earth ?
(1) The core of interior of the earth is made up of sial.
(2) The core of interior of the earth is made up of sima.
(3) The core of interior of the earth is made up of nife.
(4) The core of interior of the earth is made up of hard rocks.

87. IVl WHINS Fisa ' &g o a1 3y el fogaar=,

(1) dWEE ] (2) Ef @uER

(3) ELAFSET SRt (4) TAETE TS

Which social reformer wrote under then pen name ‘Hindu lady’ ?
(1) Tarabai Shinde (2) Dr. Rakhmabai

(3) Dr. Anandibai Joshi (4) Ramabai Ranade

88. TH® AT TR H1 UGN HT IMNYUTATHIAT HdTd ?

(1) dgwr=n & A (2) datEnEm

(3) TEEEIEM (4) A THaE AR
What does Dermal Nitrate test detect ?

(1) Gunpowder residue (2) Seminal stain

(3) Blood stain (4) None of the above

89. Uiy fFTH Yoy Toil TGt HIKM YeT TR Hoo 38 ?
(1) SAFAHR (2) WHIW

(3) “EEgwE @) etE! THE TR
Which of the following drainage patterns has been formed by rivers flowing in western
coastal plains ?

(1) Rectangular (2) Parallel
(3) Trellies (4) None of the above

HoT HIHTATS ST /SPACE FOR ROUGH WORK

P.T.O.



S0O2 34 : A
90. HUSAH Hees foheo wive TRl @ Soed! SYRS!. AU FRIHeIa HIvl IS siferen

KEAPRRACI

(1) o (2) T

(3) ewRYd (4) TSR & e

Which style of temples was the most popular during the Maratha period ?

(1) Rajasthani (2) Maratha

(3) Hemadpant (4) Rajasthani and Maratha

91. TE® I faumien faar #g.
(@) T forse HIAEAT ToReT go Ty 2011 T8 SETe FOAM T,
(b) T forze HiiRRE e 9 sfiford ol Fx Toay, TE @i g WEL

SATAT G
(1) () SR g (b) T (2)  (b) SR W (a) T
(3) T (a) d (b) ST 4) T (a) TSR A (b)

Consider the following two statements :

(a) ' Neyveli Lignite Corporation has been conferred with NAVRATNA status since April
2011.

(b) NLC presently operates four thermal power stations, all in Tamil Nadu.
Now state whether

(1) (a) is right but (b) is not (2) (b)is right but (a) is not

(3) Dboth (a) and (b) are right (4) neither (a) nor (b) is right

92. T HidewyHl fofegee sivmr dy w=an fraHa yfag oo ?

(1) Wi ST (2) wfaug-Fre

(3) YRET HIUT A ? (4) T A AT g
Which book of Dr. Ambedkar was published posthumously ?

(1) Castes in India (2) Annihilation of caste

(3) Who were Shudras ? (4) Budha and his Dhamma

HeeAT SIS 9T /SPACE FOR ROUGH WORK

1% RS R T S e e



A 35 502
93. R SHAIE®A g ST QIoareal YAl a7 JWe A Jarerd! SIH-< 49 HIvar wem!
e =l Rt TeN AR ?
(1) U9 (2) TgHe (3) =AU (4) 89S
If the velocity of a stream is doubled then how many times the erosive power of the stream
will increase than its original velocity ?
(1) one time (2) two times (3) four times (4) eight times
94, ftrtaT T U -
(1) W= st (2) WA HUTE &
(3) Wda st @ (4) ariet FHEE A
Soil texture is :
(1) arrangement of soil minerals (2) arrangement of soil particles
(3) arrangement of organic matter (4) none of the given
95. =uidie Fid e feawral wremd! fand ?
(1) 13 a9 13 fafte ) 1299 13 fafe
(3) 129 59 fafwe (4) 1479
What is the time period of the largest day in any year ?
(1) 13 Hrs. 13 Minutes (2) 12 Hrs. 13 Minutes
(3) 12 Hrs. 59 Minutes (4) 14 Hrs.
96. faam (A) : 1893 wed ‘weweH Iral-Sifieiee fethy TEduy wiR 3o Sfearst Tmaa

HOI 3.

FROT(R) :  ESHH UShd MUY Afow SqUarde! d wRaW foeienst a A
FHITIIS!,

(1) (A) 37T (R) S SR TR 2) (A) FHE AR, (R) TH k.

(B) (A) W AR, (R) THA 3. @) (A) gHE AR, (R) TUK 3T,

Assertion (A) : Muhammadan Anglo - Oriental Defence Association for Upper India
was established in 1893.

Reason (R): To keep the Muslims away from political agitation and to strengthen the
British rule in India.

(1) (A) and (R), both are true (2) (A) is false, (R) is false
(3) (A)is true, (R) is false (4) (A)is false, (R) is true

HoS RIS SR /SPACE FOR ROUGH WORK
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97. IEEESE Heuld Wiete faum feeamg =
(a) UETRN &S 80% A9 HH! Feard ddfie TTeadmed Wedl THIUE 76 2o,
(b) HiIGHET WUl HH HeATE WS WA 916 B,
(C) SIAT-BHT TATTHRUIIY 37 @SH] Bist 3 q 4 e[Urdeearydd Aaifed Wad.
(d) 3T GREeAE! B 2 - 8 ST ATAd aeed
ot Hod 2 faum /e a2
D @, ) 2) (b)) G © @ 4 @
Consider the following statements concerning food chains :
(@) Removal of 80% tigers from an area would result in increased growth of vegetation.
(b) Removal of carnivores would result in an increased population of deer.
(c) Thelength of food chain is generally limited to 3 - 4 trophic levels due to energy loss.

(d) The length of food chains may vary between 2 to 8 trophic levels.

Which two of the above statements are correct ?

1 (@) ®) (2)  (b) (o) 3 (© () 4) (2 (d)

98. WIPI® IV fHEM AR TR ?
(1) afv=m 9 <R YT WTedTd ST Hig THe T ST UFIG | gatd IS JigH1 SHsie S,
2) S T % e Hied Setedn aediared Afedt 2.

() aRfwe ud iE Sfear, goivee ¥4 ofw sfear a o w4 o1t sfen = J&med
FOFA AAT Q.

(4) S TH AR

Which of the following statements is incorrect ?

(1) In western and southern regions the hottest month is April for northern regions
May is the hottest month.

(2) Red Data Book gives an inventory of endangered plants.

(3) The headquarters of the Botanical Survey of India, the Zoological Survey of India
and the Geological Survey of India are all located in Kolkata.

(4) None of the above.

oAl HIATERT W /SPACE FOR ROUGH WORK
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99. Wwwmwmmﬁmmaﬁwﬁmm e T
T | HIV! e I T8 ?
(1) Yawar, Fegeaa fFarw, faum (3% fhar g 9= @99 7 F10), ffg-m wevE
aifor fesrnanfar FHmE.
) T, sTegvEa e, fiaqum, f&g- e Sgve snft feaiwia aam.
(3) YawHar, At fiev, sregyaa farv, frqum anftr fig-eam Tewme.
4) T o, I, sregvaarn frawo, faqam sftr ferisia a9

While explaining his programme for strengthening India, Gandhi used to point to the five
fingers of his hand. According to him what did each of the finger indicate ?

(1) Spinning, removal of untouchability, sobriety (Non - consumption of alcohol or
opium) Hindu - Muslim amity and equality of women.

(2) Cleanliness, removal of untouchability, sobriety, Hindu - Muslim amity and equality
for women.

(3) Spinning, education for all, removal of untouchability, sobriety and Hindu - Muslim

amity.

(4) Bas.icy education, agriculture, removal of untouchability, sobriety and equality for
women.

100. TR WEHTH THE R L.

(a) AN TSI T

(b) TRRE TEHAT IS WE

(c) ™Y e

(d) =AY He

(1) *K (a) (2) w (b)

(3) (a) ST (b) @) (@) (b), (c) =T (d)

The Kyoto protocol was for the purpose of

(a) Ozone layer depletion

(b) Reduction in emission of greenhouse gases

(c) Decline of Oxygen

(d) Depletion in chlorine

(1) Only (a) (2) Only (b)

(3) (2)and (b) (4) (@), (b), (9 and (d)

HoAT WG S /SPACE FOR ROUGH WORK
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101. ST qoFhROTSIE ShivTe G Se1eh qEqal TehteaT 311ed 7
(a) § 1856 WA fayen Tfdfame #& .
(b) ¥ 1872 weR oty foamg tffram Rl forame A,
() §7 1938 Hea &g foan fawed A% wiahd g Uredit A Wi,
(d) W 1946 7% &g o o= gae fiesrer.
(1) (a) ST (b) @ (o) 3o (d) (3) (@) & (o) (4)  (b) AT ()
Which two statements regarding legal provisions regarding womens liberation are
incorrect ?
a) In 1856 widows were allowed to remarry.

b) In 1872 special marriage act recognised Civil marriage.

d) In 1946 Hindu women got right to property.

(

(

(c) In 1938 Hindu women could ask for separation and alimony.

(

(1) (a) and (b) (2) (9) and (d) () (a) and (c) (4) (b)and (d)

102, STRERT HTEE AT I ATEETS! Gag= Hed THHSTIN & Ho5 10 JY FAY H0dl
& faeneatn gfaw =l ora 39 @1
1) ¥ I fAERYR AT,
2) 1 foraren faevmEt 9 favaren widarmet +m F=do.
(3) 1 SuNTde §d 31fTe yuifass Fede.
(4) T AEEHE ARG FHEE TR TR

Under the leadership of Barrister Keshavrao Deshpande ‘Sadhakashram’ was opened at
Andheri, Mumbai wherein the students who took admission had to pledge that :

(1) They would promote scientific thinking.
(2) They would work for womens education and widow remarriage.
(3) They would fight against all social evils.

(4) They would never enter government service.

103. faoaren qamHie TORES | fTeugd! TH .
(1) 1.0 fdtom (2) <o08Wdw (3) >12®Rwm @) 15HAT
Harmless concentration of flouride in drinking water is

(1) 1.0 ppm (2) <08 ppm (3) >12ppm (4) 1.5 ppm

el RTATS! SR /SPACE FOR ROUGH WORK
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104. YRAW fUHREH, FOMETS § TNASS STHH 57%, 4% T 22% ST A STt TTEL 11%, 26%

T 31% R, TS SHSAN IV IR I 3 T Fim.

() 6,56, 14 (b) 12,2, 67 (c) 10,34, 14 (d) 29, 46, 10
(1) I, UM, IR, SEgfoar (2) SMUM, Yok, ArTen, wm=
(3) SAgfoa, S, <A, 96 (4) =T, ST, o, STUH

Percentage of area under crops, parture and forest in India respectively are 57, 4 and 22
where as the World averages are 11, 26 and 31. The statistics for four countries is given
below.

(a) 6,56, 14 (b) 12,2, 67 (c) 10, 34, 14 (d) 29, 46, 10
Name the countries (a), (b), (c) and (d).

(1) UK, Japan, China, Australia. (2) Japan, UK, Australia, China

(3) Australia, Japan, China, UK (4) China, Australia, UK, Japan

105.

S .
ECIRE | YT TRUT HISITIehT TERTETA® WIS
(a) W i) 20%
(b) oGS () 21%
() ITE (il) 9%
(d) Wi (iv) 40%
(e) HIMES v) 10%

@ ® © @ (@
O @ @ O 0
@ @ 6 G @ ©
@) @ @ @ 0 ©
@ @ @ O @

Match the pairs :

Minerals Out of total reserves in India, reserves in Maharashtra
(a) Manganese (i 20%
(b) Iron ore @ 21%
(c) Limestone (i) 9%
(d) Bauxite (iv) 40%
(e) Chromite (v) 10%

@ ® © @ (@
O @ @ 60 ©
@ @ 6 @ @ ©
@) @ @ @ O ©
@ @) @ o @ 6

HEAT HIMHIS ST /SPACE FOR ROUGH WORK
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106. (a) STEHME HAHE Faehvl AT 9aT ST R ST ST,
(b) ToRUmTd STEHTE ATATYET ST U WHIEA 6 e,
o faamieTed WGB! HIvEl T4y alie) 38?7
(1)  (a) 3T (b) It Tl SRR G, (2)  (a) TS IV (b) T IR,
(3) (a) IH T (b) TR & (4) SR (a) SN (b) S ST

(a) Sandy soils have more porosity than clayey soils.

(b) Clayey soils hold more water than sandy soils.

Which option is correct regarding above two statements ?

(1) Neither (a) nor (b) is true (2) (a) is true but (b) is false
(3) (a) is false but (b) is true (4) Both (a) and (b) are true

107. GIIGYR! SV FRHS foiert Syt gar faefEsst et ?

(1) () d9EsHTE (i) YT T (ifi) IO AR
(2) (@) TR R (i) I IR (i) @SH! T¥
@) () A= (i) HIE FW (iii) "GRG
4 (@ TFR (i) ~HIAWaE (iif) T IR

Which of the following pacts made Peshwa power weak by the British ?
(1) (i) Vasai treaty (iiy Pandharpur treaty  (iii) Pune pact

(2) (i) Nagpur pact (ii) Kolhapur pact (iiiy Khadaki treaty
(3) (i) Kalyan treaty (ii) Mumbai pact (iii) Satara treaty
(4) (i) Pune pact (ii) Satara treaty (iii) Nagpur pact

108. WIHGUH! IV HOH 1919 =1 HICHS GURI HIFE THIFAE HI0ATT S B 2
(1) 91 FEFEH TR ST ER sfear’ 1 AfuwrarEt g oA ST,
(2) To@EA AaEFAET ATYEHR F-S F0AR A,

() WRg "= TR fegrar=an fasikiqa Suamet Tgg 9.

@) sfem fde = SRR & § T 4 HIUEW SO

Which of the following articles was included in the 1919 Mont - Ford reforms act ?
(1) This act caused’the appointment of ‘High Commissioner of India’.

(2) Women got the right of voting.

(3) Provision to give the salary of Secretary of State for India from the treasury of
Hindusthan.

(4) Reduction of the Indian Council members from 8 to 4.

HISER WRWETST ST /SPACE FOR ROUGH WORK
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109. IR HEsH TS feow faumie! S faum gwa R ?

1) & i S T sfean Surten AfYTERETS AEET TIE S,
(2) HUATAT TR A€ FHAVAHS! heedl TACTd Fd A,

(3) T HISE THL SIS A0S 4% 9.
(4) o o qATt RIS AT 4T HO.

Which of the following statements in connection with the Subsidiary Alliance System is
incorrect ?

(1) It tried to bring Indian kings under the control of the English East India Company.
(2) It was helpful in the expansion of the Company’s territories.
(3) The second Anglo - Maratha war took place due to the Subsidiary Alliance.

(4) Lord Rippon had started the Subsidiary. Alliance system.

110. <i=g1 g78 fral fouat o g €80 STquarE! JegaT 379 ?
1) W (2) ®R @ =& (4) T
When a rock looks blue in colour what is it likely to contain ?
(1) Diamonds (2) Gold (38) Silver (4) Copper
111. 91 FAWM SN Sugaal 3 d 10 feaw o4, @ .

(1) T HroTEHE G S (2) TR FHOEHE TN e

(3) < SroEHtE T e (4) =lo gd
When validity of weather forecast ranges from 3 to 10 days, it is
(1)  Short Range Forecast (2) Medium Range Forecast

(3) Long Range Forecast (4) All the above

HEEAT HTHTETS SR /SPACE FOR ROUGH WORK
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112. Y=t waa fafay Tewi a0 AR, ESHieEd HIvd 98 a2

(1) T Jool o1 W Yeaia Gio U Tal. o1a W geaR 4 Bl BUH e HU1 q9R B,
TATEE AT FohTATE IR R, § T (3FeT9) WSH R

(2) WEIATE 91 9T SBUAVFHEUATEIE! AT SR S TR STl

(3) o feme MeEn (\fedel) e IOl AR,

(4) dHES ®UAG (FEHIEF) TEH aTEIS 3T,

The earths crust is made up of various types of rocks. Which statement about the rocks

given below is incorrect ?

(1) Sometimes the molten magma cools down deep inside the earth’s crust. Since they
cool down slowly they form fine grains. Granite is an example. They are igneous
rocks.

(2) Grinding stones used to prepare paste/powder of spices and grains are made of
granite.

(3) The Red Fort is made of sedimentary rocks.
(4) The Taj Mahal is made of metamorphic rocks.

113. @O Foren FROTETET 1899 Hed v A9 firt A’ < v e e 2
(1) OIS TS FHOATEIS (2) Torersit S SR HAEE
(3) HaH IWA TS FHIOIMIE! (4) FAYT ITd TS FLOAHS
In 1899, ‘Mitra Mela” was established in Nasik for which one of the following purposes ?

(1) To celebrate ‘Ganapati Uttsav’  (2) To celebrate ‘Shivaji Jayanti’
(3) To celebrate ‘Trimbak Uttsav’ (4) To celebrate ‘Sapta Shringi Uttsav’

114. <fed Ioaaiersd Eie oF faumite wE aieT g ?
(a) TIITEE TS ATSTH AT ST A9 IfSdrEre! - Y TR I T197 Hel,
(b) TR SIS i A Sfeien e e v Sramien Hew gE H0.
(1) 9 (a) TG (b) TR (2) F9 (b) RY (a) TR
3) (a) @ (b) FhT wIvE AN 4) (a)d (b) =T
Which of the following two statements about the Dalit Movement is correct ?

(a) Gopal Baba Walangkar started ‘Anarya Dosh Parihar Samaj’ at Dapoli for the Dalits.
(b) Shivram Janaba Kamble started Chokhamela Mandal for Dalits so that they get

education.
(1) Only (a) not (b) (2) Only (b) and not (a)
(3) Neither (a) nor (b) (4) Both (a) and (b)

AT HIHTETS! SR /SPACE FOR ROUGH WORK
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115. TSOIET FIURAT T =G  Sfeex o A1 Tame! Haiee S ?

(1) ®R T TaeE O (2) A AR

(3) vdE/ ST AR @) Thar

Which of the following local winds -are also known as “Doctor winds’ ?

(1) Land and sea breezes (2) Pre - mansoon winds

(3) Mountain winds (4) Valley winds

116. Vit T FYMAIAT T AR garwia faoid 3@ BUA faiy wal ?

(1) WS e o1 ) T g uHE

(3) TR WgH TEEH (4) 3T WG SR

Who opposed the licence bill for it would affect trade and business adversely ?
(1) Bhau Daji Lad (2) Gopal Hari Deshmukh

(3) Dadoba Pandurang Tarkhadkar (4) Acharya Balshastri Jambhekar

117. %6E TR o (e Vo4 MUARERTH) & W TR FOM Wesdl ified 9 9B
e oTR. ot St A 1960 TRA =1 . fad T &1d 9 yohediHt §& o Tohed TR
(qHmifHa Yoy adh) o Yehed Sl

(a) WheT Tdh qREHA TR, (b) THTY ST A AR,
(1) (a) R R (b) 214rF 2) (b) TR T (a) 1A
(3) < (a) F (b) AT (4) A (a) S 7 (b)

The Border Roads Organisation is a road construction executive force, integral to and in
support of the Army.

It started operations in May 1960.

It started with two projects Project Tusker (renamed as project Vartak) and Project
Beacon :

(@) Project Vartak is in the West. (b) Project Beacon is in the East
(1) (a) is right (b) is not (2) (b)is right (a) is not
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

HOAT HIHGE! TN /SPACE FOR ROUGH WORK
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118. & wroen &3t dasit figer =ue o/ HIo gafae ?
(1) TBIFHL Tesi (2) TSI AR 9TEd
OIRECIARIECI (4) fa=. gEE
Who suggested that Hindi should be instead addressed as Hindustani ?
(1) Golawalkar Guruji (2) Rajaram Shastri Bhagwat
(3) V.K. Rajwade (4) V.D. Savarkar

119. ST UAM 1840 He3 'L &A1 § 119’ B[ SIvm=! F90F Fol B ?

(1) TSR Trga 1 (2) RIS ST

(3) TRE YIgH TEESH (4) WS HESH

Who was appointed by the British Government as a ‘Justice of the peace’ in the vear
1840 ?

(1) Rajaram Mohan Roy (2) Balshastri Jambhekar

(3) Dadoba Pandurang Tarkhadkar (4) Bhau Mahajan

120. wmmwwﬁwﬁmmwmmmaﬁwwwﬁ

(a) WUE Wifgd g EA (b) EIH HENE ufivE
(c) T HERT Wi (d) = (FHieE) e
(e) .. whiTdt (f) TR FW

(g) Tsa=m EHERUTEEE %o st SEn

)

(1) (), (b), (c) TeaT=a S AT (d), (e), (f), (g) Foiema
(2) (), (b), (d) T SN AT (c), (e), (f), (g) foiema
(3) (@), (b). (), (e) TeaT=A =LA MW (d), (), (g) oo
(4)  (a), (b), (c), (f) TA=A IRA S (d), (e), (g) forrema

All Marathi regions should form a state ! From amongst the following who were {or and

who were against the ideology ?

(a) Marathi Sahitya Sammelan (b) Sanyukta Maharashtra Parishad
(c) Sanyukta Maharashtra Samiti (d) Darr Commission

() J.V.P. Committee (f) Nagpur pact

(g) Faizal Ali commission for Reconstruction of states

(1) For (a), (b), (¢) against (d), (e). (£, (g)

(2) For (), (b), (d) against (0), (@), (©), (g)

(3) For (a), (b), (c), (e) against (d), (1), (g)

(4) For (a), (b), (c), (f) against (d), (e). (g)

THoAT HETETS ST /SPACE FOR ROUGH WORK
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121. Jeat FHFAGS SEERY SaER U8d SR -
(1) SR &1 4 39 IRUTHREs 9IRS TRl
(2)  YYSSTIRA FIUM IWA™ IS
@) Sfaw a7 3o TRt |
(4) ITE FHETSHATFEES o I FHIM.

The Atmosphere around the Earth is warm because :

(1) warm air cannot escape because of Green House Effect.
2)
(3) Fossil fuels release heat.
(4) Plants absorb CO,.

Terrestrial radiation.

122. HERIERIG WGIGIR! RIVAl TGaEd Jhed SATTH AR Tl B SiaEa S ?
(1) (2) T (3) 39 (4) HEREQ

Which of the following hydel power projects in Maharashtra is known as Fortune of
Modern Maharashtra ?

(1) Koyna (2) Radhanagri (3) Ujani (4) Bhandardara

123. 28 &K 1949 Tt HYF HeRTeren fafifdt fawei=n yema qa8 qerRueicd S Hige ?
(1) e o ST STREL. HeER 2) o= 3T Sl WHL RIS
(3) SIREL wer amfyr fardy § (4) ARE. e nfor FHeEE A9

On 28" November 1949, who presented a proposal in the Bombay Municipal Corporation
for creating Samyukta Maharashtra ?

(1) Acharya Atre and R.D. Bhandare (2) Acharya Atre and S.K. Patil

(3) R.D. Bhandare and Shirish Pai (4) R.D. Bhandare and Keshavrao Jedhe

124. S SO eSted Hd ST faari=n st 98 I8 Gt sTRd. o T Hedt Sieed
o= aTe. <t st HIvIdT 9 SieE,

(1) @ FHg JE! (2) 3 d%e

3) fau fiig (4) @ faoT]

Following are the names of Revivalists. One of them was of different views. Spot the odd
man out :

(1) Swami Dayananda (2) Annie Besant

(3) V.R. Shinde (4) Swami Vivekananda

ol HIAHIS SIRM / SPACE FOR ROUGH WORK
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125. '’ Erre gl=ar ffHdreet v vty o o ?

(a) e @R FES TAR 2. (b) eI HEEA ST TR B

() Teodn e+ @R ek, (d) fewAds=n doe #19ige a9x 8.

(1) % (a) (2)  (a) ST (b) @) @) (4 ()
Which option is correct for the formation of a ‘u” - shaped valley ?

(a) Formed by river erosion (b) Formed by river deposition

(c) Formed by glacier erosion (d) Formed by glacier deposition

(1) Only (a) (2) (a) and (b) (3) (b) and (d) (4) Only (¢)

126, RIS et GUTa WA, @ e T, 9 g e % ?

(1) THMG Fh AT (2)  SIFS ST TS

(3) WY TEAFIT BEMHT (4) YRt FHIvRE A

What is the original name of Swami Ramanand Teerth Hyderabad Mukti Sangram
leader ?

(1) Ramanand Venkatesh Teerthkar (2) Shrikrishna Bhagwanrao Ramanand

(3) Venkatesh Bhagwanrao Khedgikar (4) None of the above

127. ' ARG YEUATY SR SIS W6 FHL0AE SATTHTY HEgeei=] Sod TR, YA RHvErE! g
FOIT QAT STavasRal TE’ ¥ I B FHST R ?

(1) e A (2) SRS
(3) TRNYH AN @) od T

“Tust as we do not need the services of a mediator to meet mother or to please father, we
do not require the services of a priest to pray God.” Which Samaj advocated this
principle ?

(1) Prarthana Samaj (2) Brahmo Samaj
(3) Satyashodhak Samaj (4) Arya Samaj

FHoeAT KIS WRT /SPACE FOR ROUGH WORK
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128. Haiqe HERTY Toars A SdwiaR Sl w1 e B ?

(@) ‘Yo% TRNISTIRE S FUA HE Y v foly e

(b) ‘' HERISTRl g3 fHeUR TR S G 9 9% ST 99ehd TR .

(c) TR AN HERIH WEurT BoIR 1 S it feia o1

(p) ¥FTE A

(@ WHLIES

(r) RS <

O @ @) O )@ @ 2 @ @ ®) ) © @

@) @ @) ®) @ © ® @ @@ ®) @ © P

Who had said what before formation of the state of Maharashtra with Mumbai as its

capital ?

(a) “I will oppose the separation of Mumbai from Maharashtra up to my last breath”,

(b) ”11<\/Ifilharashtra will not get Mumbai as long as the Sun and the Moon shine in the
sky”.

() “The citizens of Mumbai will not join Maharashtra till the congress is alive”.

(p) Shankar rao Dev

(@ SK. Patil

() Morarji Desai

@O @ @) ® @) © @ @ @ @ ®) @)@

3 @ @) 0 (@ © @ @ @ ®) @) © P
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129. YRAW HALAGS! § HAAANER! 3@ Moo 9R e Yo/ e (#e TF) & €

T

(a) T 3T TR (b) TTE AE FoD

() o (d) siAM q fFER 9

1 R @ 9 R

(p) T SR FRE qumeh & frmmeh s

(@ T HoEE

() S 0 & Aidh J JBES 99 R
(s) TEd w0 @ Gids o IES 91 R
ot ,

1) (p)d(q) T= T@F A e

() (p) TR AT (5) FTOMHTT

(3)  (q) T T (1) FTOTRTT

(4) (p) W (q) FEF S &

The four major coral reef areas identified for intensive conservation and management in

India are :
(a) Guif of Mannar (by  Gulf of Kutch
(c) Lakshadweep (d) Andaman and Nicobar islands

The emphasis is on :

(p) preventive aspects through monitoring and surveillance
(@ restoration

(r) preventive work is costly and time consuming

(s) restoration work is costly and time consuming

Options :

(1) The options (p) and (q) both are right

(2) The option (p) is right for the reason (s)

(3) The option (q) is right for the reason (r)

(4) Neither option (p) nor (q) is right

HEHT RIS 9FT /SPACE FOR ROUGH WORK
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130. FehT<T 1T T

(@) it 7 R ERwEg-sTome ST Yy-HeRd A1 SR T ST IR,

(b) el T TR waHTel- Afsar it siEes FomEE a1 SR T SR AR

(c) it TR W wrawTe-SIfaT ST Wrge! SR AT SR .

(d) FN T G TY-HRRE SR ST |- s SR Wie S AR,

(1) ¥R () (2) wH(d) (3)  (a) T (b) (4) (b & (c)

Find out incorrect option.

(a) Bhima river basin is in between Harishchandra - Balaghat and Shambhu - Mahadeo
hill ranges. '

(b) Godavari river basin is in between Satmala- Ajintha and Harish Chandra - Balaghat
hill ranges.

(c) Tapi river basin is in between Satmala - Ajintha and Satpura hill ranges.

(d) Krishna river basin is in between Shambhu - Mahadeo and Satmala - Ajintha hill

ranges.
(1) Only (a) (2)  Only (d) (3) (a) and (b) (4) (b) and (c)

131, WOtSYH! IV HEU Folid & VT HoEur 3 ?

1) SadEw (2) it = @) oiEifes (4) =C
Which of the following wastes is highly infectious ?
(1) Biomedical (2) Animal (3) Industrial (4) Domestic

132. 3N g1 HTHRIAM {did SAevash e, e o YA Aegl | fH0 9 375%Re fem
JeATeR WX RIY, Wehd IR
ST ST ST T G T,
(1) 3gF 1 WARERSR a1 e IR Ygaiden! Tenid Tawl.
(2) FAfeRsR THURE 20 1 50 frrt=n ggam s,
() TATHIR WA S faamies Hew o s v 85 g = J=mT 4t 2.
(4) STRTRARE RIS weE SR (HIVHE) T899 |8 9 Wisdl @Ue ddm.

Ozone layer is an absolute must in the atmosphere. Due to the presence of Ozone ultraviolet

rays and infra red rays from the sun cannot reach earth directly. What is not correct in

relation to Ozone present in the atmosphere ?

(1)  Ozone lies in the stratosphere of the four layers of the atmosphere.

(2) Stratosphere lies at a height of 20 kms to 50 kms from the earths surface.

(3) Ozone is depleted by the sulphur dioxide gas emitted by the aeroplanes moving
through the stratosphere. '

(4) The ultraviolet rays cause skin cancer in human beings and also affect fish and
vegetables.
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133.

50 A

e faurien faur 3.

(a) 1Y @ fEe aos < Sufe.

(b) Tl 9 @R Thea [@-9ien TR,

(c) M T@BHe SHGH J YR HEfie T a9 f0d TWRe TR,

(d) HEUH SR T " EIe 9 SR,

() T o uftaw wel= S TaaT™ ARGl SR,

O Td FSte wE Tg TREEIs IS TR,

FU@ HIv faEM SER 3714 ?

(1) ¥ (a) 2 )3 (@) ¥ () 4) @@

Consider the following statements.

(a) Nathu La pass denotes Satluj valley.

(b) Mizo and Rkhine hills run east - west.

(c) The little desert extends from the Luni between Jaisalmer and Jodhpur to the north
west.

(d) Cardamom hills are a continuation of the Eastern Ghats.

(€) The Eastern Ghats and the Western Ghats have about the same elevation.

(f)  Eastern coastal area is narrower than the Western coastal strip.
Which of the above statements is/are correct ?

(1)  Only (a) (2) (b)and (d) (3) Only (o) (4) (e)and ()
134. foHTd frome 43 2 TR GEGtH! BV FTAH WA 318 ?

(1)  &1d T SRET WA ST,

2) et soEE FFdd

(3) FIAE! AT WA

(4) e TS TR

What are the activities permissible in CRZ II ?

(1) Buildings are permitted anywhere in the zone

" (2) Desalination plants

(3) Storage of any cargo

(4) None of the above
135. 1930 =41 YEAH BT Facdl ATYAYAN Fell WEHS IHATST A TLTE Heq T HISH! ?

(1) feea (2) HEH (3) STORER (4) @R

At which conference of Muslim League Mohmad Igbal put forth an idea of separate Muslim
Nation in 1930 ? '

(1) Delhi (2) Calcutta (3) Allahabad (4) Dhaka

oAl SIUTEIS! SIRT /SPACE FOR ROUGH WORK




136. GEF A THRA TR
I (FteTd), M (AfeHelt) 9 wuaRa (AduAifthe) g @fel qdwEmRog SHivrn
TGEH ATGesqd ?
(1) oS 3 M=l GE&Hd (2) el § TR GSHId
(3) oI 9§ ®Yiaa @sid (4) F FHIS GEHId
There are three types of rock formations :
igneous, sedimentary and metamorphic. In which rock formations are metallic minerals
generally found ?
(1) Igneous rocks and sedimentary rocks
2) Sedimentary rocks and metamorphic rocks
3) Igneous rocks and metamorphic rocks
4) In Igneous rocks only

(
(
(

137. TIYRUE: JHrET Gfesgar ol o ?

(1) 20d 30% (2) 3074 35% (3) 30d 60% (4) 604 70%
What is the general range of soil porosity ?
(1) 20 to 30% (2) 30 to 35% (3) 30 to 60% (4) 60 to 70%

138. e T A Wi TR OO T oA .
(1) T Afgo=a feud GUR SATvgERtal 3R Gfgs 9 §F S,
(2) < foia TR giaw Ravarsid € TR e TE Hal.
(3) A foveictar ARG wed wfyd %o,
(4) A ST FUT T GE $0.
Pandita Ramabai’s contribution to womens liberation is noteworthy.
(1) She started Arya Mahila Samaj for womens reforms.
(2) She started Lady Dufferin Fund to provide medical facilities to women.
(3) She started Sharda Sadan for widows.

(4) She started Kripa Sadan for orphans.
Which one of the above statements is incorrect ?

139. <IM=AT HIVAT YT FHeTEoS &3 Sl 278 ?

(1) W 9@ (2) Uf=EH 9Rd

() @ 9Ra (4) <o Wi
Which region of the country has the least irrigated area ?

(1) Northern India (2) Western India
(3) Eastern India (4) Southern India
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140. STHER O 74 ?
(1) i § hics ALY BVN A d T5(-4
(2) 3 d 9L AHE TS
(3) feaTear vsUm wEH
(4) =t sTeUwAI e TSN IS
What are mango showers ?
(1) Pre - monsoon rainfall in Karnataka and Kerala
(2) Rainfall in June to September

(3) Rainfall during winters
(4) Rainfall caused by western disturbance

141. SAREE el IRAE] Aee TRAfE fiaas aR. TR e oS aeie S faum

T 3R ?
(1) ST graat 9 MRt Sifaesrerea Tee fefas.
(2) <O HEvE E.

(3) ek GEATET {THET YAl Bl

(4) A A TEAN & TR/ gifaEn SeieAmEe @ fresfad,

Six Indians have so for won the Nobel. Which of the following statements is not correct
about the Indian Nobel Laureates.

(1) Two Indians have so far won the Nobel for Physics.

(2) Both were Chandrashekhar

(3) One was the nephew of the other

(4) The junior of the two it for got “Optics Research”

142. 2001 =47 STFVHER, TR ROSINA SHaia @l Shaei=a1 3atel HHER T4
BECCIRECEA
(1) FEH - T I — T — AL Gaq — Y Y3
(2) SW WY — FAEH — oA — T T — Y Je
(3) WU — O — FAlCE — Y ToW — HHA T
4) FAlE - TEUA — IW IGW — Y YT — HeA YT

According to 2001 census, select the chain of states in descending order of their migrated
population from other states to Maharashtra.

(1) Karnataka — Uttar Pradesh — Gujarat - Madhya Pradesh — Andhra Pradesh
(2) Uttar Pradesh — Karnataka — Gujarat - Madhya Pradesh — Andhra Pradesh
(3) Uttar Pradesh — Gujarat — Karnataka — Andhra Pradesh — Madhya Pradesh
(4) Karnataka — Gujarat — Uttar Pradesh —» Andhra Pradesh — Madhya Pradesh
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143. HIESAR VarHed dieh UG G IS GHlH! HRGHA IS ATeiod 330 :

(a) Tl Reror 9 At gfafsean (RefaM) T8R @arEn amwR.

(b)y SfEAEe faaroarsm 5 9.9, s f6har et @ <.

() TeATde THIE AT UTeTe @A STaRu S T GTa G §%9Td [AHF]A aTa .

(1) (@), (b) 2)  (b) (9 3 @ () 4) (@), () ()

The fertilizer use efficiency in dryland crop production can be improved by :

(a)  Fertilizer application based on soil test and soil reaction

(bj  Placement of fertilizer about 5 cm away or below the seed zone

(¢) Basal application of P and K fertilizer and N application in two splits

() (@), ®) 2) (), © 3) @ (© 4) @, (®) (@
144. BRI WHideh HUTT sTics@uarems! e 341, 33 ? U IS WIaw.

(1) = (2) @) T (4) s fem

For identifying the physiographic regions of Maharashtra, mainly three factors like height,

reliefand __ is used. '

(1) rainfall (2) temperature (3) soil (4) direction of slope

145. 1 o @ !

(@)  $fea Brod Hel HuTl 9.

(b) S d TROT 9IS T A S YRATd e Suh e d @ie Said S1d Ul i IrhdTe o9
CRARIEA

(c) dfd TR Fvam 93 Rrwva o 1w 710,

(d) T 1914 IRA A G T29B WS faehmdrcas isieh w1 Ag Hae.

(e) T QTR ST9E v ifeek TS 3@ SR,

(1) g 7eRa (2) e R SIE

(3) AT YRS (4) oTgRE O SRR

Name the personality !

(a) He joined India House.

(b) In case he died, he hoped that his next birth would be in India to complete the
remaining task.

(c) He went to Paris to learn Bomb making.

(d) From1914 he gave himself for constructive social service instead of armed movement.

(e) He was better known as Senapati Bapat.

(1) Pandurang Mahadev (2) Gopal Hari Deshmukh

)

Baba Padmanji (4) Vasudev Ganesh Joshi
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146. IREQET WoGiH! SV faum/faym 9ts) 31eq ?

(a) o HYUl T AT W SR,

(b) B U THA/THES HAT AL,

() B UThfaes qaieRe oniftr Sifaw sewivete siafwaan s 3.
(d) o AT M FwraferE Jegan ST 2,
(
(

1) %X (a) (2)  (b) S (c)
3) (b), (c) & (d) 4) e wd

Which of the following statements about Ecosystem is/are correct ?

(a) Itis entirely a biological entity

(b) Itis an integrated unit

(c) Itisastudy of interaction between physical environment and biological components
(d) Itis a study of structural and functional aspects

(1) Only (a) () (b)and (0

(3) (b), (c) and (d) (4) All above

147. E THIEN T TIow HWHT 'Ta6 GRAT AHSK’ 7 90 WHRs 8. 7 90 gat @t
feoSeaT TR, SFROIUh! HIVET Tegi TRe ThRS B ?

(1) i Alwoe ) e dfew
(@) T HHaeH () o fom

While annexing the states, Lord Dalhousie adopted the ‘Doctrine of lapse’ which was
earlier followed by one of the Governors General mentioned below. Who was that Governor

General ? '
(1) Lord Auckland (2) Lord Bentick
(3) Lord Cornwallis (4) Lord Rippon
148. JUI= FEMHIG 9 IAMHe IES g (Fofafree) Svame! wiv g HReME
3 ?
(1) T 2) TONES (3) TS A 4) HREHR
Which material causes abnormal calcification of bones and teeth of animals ?
(1) Nitrate (2) Flouride (3) Hydrocarbons (4) Carcinogens
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149. (a) U9AS 1Y Tga TEID HH TGET T TS GUROTAST IR SR
(b) TR Y UG S YT ToTd A SIS IIUt TR FHIGA RIS AT S,
Fo faumieTe WIGIH! HIvE Ta SIaR 3E ?
(1) @A p)IH AR () R () A (b) TR ARA
(3) () TF A (b) TR e (4) W (a) ST (b) qF oM

(a) Contour bunding is a practice mainly adopted for conservation of water in low
rainfall area.

(b) Graded bunding is a practice mainly adopted for disposing of excess water in high
rainfall area.

Which option is correct regarding above two statements ?
(1) - (a) is true and (b) is false (2) Both (a) and (b) are true
(3) (a) is false and (b) is true (4) Both (a) and (b) are false

150. Tysi=n SRR fHdt STags HAEvgS TASS! AT ?

1y 20 (2) 16 (3) 25 (4) 18

How many elements are said to be essential for the growth of crop plants ?

(1) 20 (2) 16 (3) 25 4y 18
-00o0-
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Il — (7% 1 T T8....)

@) TEYfasHed fafsd FSen fafire Sl &= FM (@ a6) @, JEgRasARe Soubha a1
TR FFRER F HH FEAE o HY FOI] IIH FO R, 378 AN IR 9 HUR SHIGRI
YRR IR Foed ' qleme) B RysRia iy soaemead s -g2"" Ao WEgaR HeR
F0AE A3 9 N H FAE Tk U HREET Ao/ 39 Tw TR Wwien g fiew
4 2D

9) IR FHAUHFURI ErH fafed Fod 9@ drer® AN § TR wa:aiel Terematel
U TN GEFR SR, 6T THET HETTETRY WUArgEl SHaN et ITRAfAah e Wil-1
AHAHER S 7 faUwaT Wa &l Iavas oM.

Y FHi%

9. . 201.

T 99T
201, HAE 90 T HOAMIS! HIvH Yod: TIH FS ?
(1) T TG JEE @ I fEmErR
@) T UEEHEA 0 @)  TUTHS e
T A ST (3) TSN THHEET U9 o AR, TIE 91 TR S (3)" dRe. IS
WIHTTHTIN ¥ 3. 201 FARIS SR-F0% ' (3)"' 7 Ffes qoiwd oifend F6 qrafad savash
3R,
ONON NO
3 AN TR TIRhde TdE TR JOEl SUGhAe 81 JRel Wi ol

IqWAFS @ & TEFAEHH dafid ade quia0 S[ifed &7 EgaE.  gresiar
el RIGAT ITEY Aiea arard, ifae ar wgs o arne &,
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